Assembly Instruction - Folding Stackable Bookcase

NO DESCRIPTION | QTY
RF50044 Brackets | 2
RF10004 ¥ 0

Screws F6 x 5/8"
RF10002 Ny 2

Screws F6 x 1 1/4"
RF50003 L-Bracket | 2
RF44080 | ©  Caps ;

NI,
Ny

S

Single Unit

Step 1.

Open side panels (Diag. 1.) and while
they are opened lower each shelf as per Diag. 2.

Make sure each shelf is resting on each metal clip.

Step 2.

Cover the screw holes with Cap (RF44080).

[

..

NIRRT

7 7

1

)
Q
Q
Q
o
3
—_

3

Stacking Two Units

)

9
Q
Q
Q
o
3
N

/

/I

Wall

RF50003

| —

RF10002

Used 1-2 L-brackets (RF50003) and
screws F6 x 5/8” (RF10004)

to attach two side panels to the studs in
the wall, using screws F6 x 1 1/4”
(RF10002) as per Diag.

When stacking, use brackets
included, and attach as per diagram.




